Mock Test-02 MOCK TEST NEET -2020 (Answers & Solution)
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MOCK TEST-02 SOLUTION

ANSWER KEY

Que.| 1 2 3 4 5 6 7 8 9 |10 |11 |12 |13 |14 |15 |16 |17 | 18 | 19 | 20
Ans.| 2 2 1 1 2 4 3 4 1 2 4 1 1 4 4 2 1 3 3 2
Que.[ 21 (22 |23 |24 |25 |26 |27 | 28 |29 |30 |31 |32 |33 |34 |35 |36 |37 |38]39]40
Ans.| 4 3 4 4 3 4 4 1 4 2 3 1 2 3 1 1 2 4 2 1
Que.| 41 | 42 | 43 | 44 |45 | 46 | 47 | 48 | 49 | 50 |51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60
Ans.| 2 3 3 1 3 4 2 4 2 2 4 1 2 2 1 1 2 1 1 3
Que.| 61 |62 | 63 | 64 |65 | 66 |67 |68 |69 |70 |71 |72 |73 |74 |75 |76 |77 |78 |79 | 80
Ans.| 3 3 3 1 3 1 2 1 4 4 2 1 1 4 3 2 1 2 4 3
Que.| 81 [ 82 |83 | 84 |85 | 86 | 87 |88 [ 89 |90 |91 |92 |93 |94 | 95 | 96 | 97 | 98 | 99 | 100
Ans.| 4 1 3 2 1 1 4 4 2 4 1 1 2 1 4 4 3 3 4 2
Que.[101(102]103|104|105]|106)107|108|109]|110]|111|112|113(114|115[116(117[118]119|120
Ans.| 3 1 4 2 2 2 2 3 4 3 2 1 4 2 1 1 2 1 3 2
Que.|121(122]|123|124]|125|126|127|128(129]130|131[132|133|134[135|136|137]|138|139]|140
Ans.| 1 2 3 1 1 1 2 2 4 2 2 2 2 4 3 4 3 2 4 3
Que.| 141[142]1143 1441145146 |147|148|149|150151[152|153|154|155]|156(|157|158|159| 160
Ans.| 3 4 4 1 2 4 2 3 2 3 2 4 3 3 2 3 3 4 2 3
Que.| 161|162]163|164 165|166 167|168 169170171 172|173 |174|175|176|177|178|179|180
Ans.| 3 2 2 3 3 3 3 1 3 4 1 4 1 3 2 4 2 1 1 4

Lyman series produces U.V. radiation
Balmer series produces Visible radiation
Pachan series produces Infrared radiation
So correct answer is 4 — 3

2.
For transistor action the base region must be very thin
and lightly doped & the emitter-base junction is forward 1 QGas Qe 9.4
biased and base-collector junction is reverse biased U; = . [ (6 43 i (5 32): ¥ © 5?]
3. o - |
1 9193 |, 9192 Clzﬁa}
U= Ty e, [ 04) " (0.3)1+ 0J)

Therefore AU=U~U,= m 9595 ﬁ_ﬁl

qd3
= Une B = K=38q

@
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AV =V, -V, =20(-j)-20(i) =-20(i+])

=A=B(v AB= B.A) ~|AV| =207 +20% =202 in S.W. direction.
6.
Y,
Active [raction at instant t,, T
W E

. . 1 2
Active fraction at instant t,, 2'1/—"'"1” = 3

2‘2/T1;2 -t S
= .211 /Ty =z = 2TV2 = 21

12.
= tg == tl = Tl;’?. = 50 délyS
option (c) and (d) are incorrect because
7. option (¢) is true only for spherically symim. bodies
option (d) radius of gyration is irrelevant with C.G.

Al B[] Y] Y=AB =®NAND) 13
(1) (1) (1) Net P.d. =18 - 13 =5V
1o C= 22O CV = 6uC
i N «“=312 5" QEIY =
8. 14.
i A -A
B N,= = andN, = (Z-Z)+2N,
a T
5 = asi == 15.
2 asmot = ot E ]
2n T T Use n=1- Z2 o w
= ? t = g = k= E Tl Q
16.
0. ]
An 1 AT A [An)
Al 2 A s | ks
Bzu_(ﬂzﬂ(EJzu_o(ev] ne JT= —=p— =7 .
2R 2R \T 2R \ Z2nR , [i] o
Hoev v “Tle00/ T
2 - 20 -
:>R_4nB:>ROC\/; 17.
10. o
Power = Fv = V[T] V = v2(pAv)
H : . VHVg
Source is stationary = A = constant & f'= = pAV3 = (100)(2)° = 800 W
18.

v, 1
f= (1+7]f= [1+—jf=1.2f

D Induced emf in primary coil

_do _d _
EP_dt = {bg +4t) = 4volt

Induced emf in secondary coil

B Ny, Es 1500

@)
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19.
il
C.=2C
=3C C=
4C=C,
il
::V
Q, = 4CV
6 6CV Q  ecv 1 3
Q [ucjvz 1 ™ Q- 11 “acv ™22
20.
For electromagnetic wave
E
vwave=E XE
B
21.
...i-Scm-H
| Scmn —
Here u = + 10 cm v=+ 15cm
1 1 1
By lens maker formula ———=—
v u f
1 1 1
+—15_+—1O T =f==30cm
22.
t {
A
g_k(ﬁlj(Tl_Tz) _ 1 KA(T-T) o- 2
t 4¢ 16 [ T 16
23.
V-V = {V—(% x 4}} - {V— (% X lﬂ
Y \Y
——§+Z— - Z :>VB > VA = Ans (4)
24. 9

25.

26.

27.

28.

29.

30.

31

32.
33.

34.

V2= V24 2gh
V2= (0.047 +2x 10 x 8 x 107!
V, = 4 mis D2V = D2V,

Bx 107y x0.04=D;x4 =D, =08x10"m

I = Idisc - Irernoved
2
1 1 (Rj 40
= 1M 2] = Z=MR?2
=3 (OMHR 5 M 3 9 MR
f'=f & Intensit Ar =1 1 3
= fitensity oc Area soI'=1I- 7=
— t L —_ t _T
v=at+ =[c]=[t] =
[vl
[v] = [at] = [a] = M= = LT
[b] = (LT HT =L
5
PV =uRT  where pu = S—Zmoles
W=8r@l-1;)T
Additional kinetic energy = TE, — TE,
_ GMm ( GMm) 1 ( 1 1)

=, \zr ) 2"MR R,
M

According to question and by using COME

GMm
" R+R

= fv= 1/ 1}
Therefore f ] 1/

AU = uCyAT & 0= W + AU
— AU =—6R (.~ W = 6R)

1
+ —m(fv)2= 0+0

R
Therefore —6R = 1( J AT = gRAT

= AT = ~4 = Ty, = (T - HK

®)
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35.

36.

37.

38.

39.

40.
41.

42.

P W 15 ps_5
P, wW-w_ . 15-12 Py -
1 2 2h
h=—gt =—
29 = &

A Ah At
then ?9 X 100 Z[T'FZT] X 100 = el N 262

3
e= 5072050 o0 & = 54w

50+R 3
= 5042950 2

I o 20

=50 + R = 4500 = R = 4450Q

VZ
Asvoltage dropacioss 8Q= /2 x 8§ =4V [ P= ?J

Therefore voltage drop across 3Q) = 3V
[ 4V is divided in ratio of resistances between 1€2 and 3QQ]
(37

—— = 3 watt

3

Hence power dissipated in 3Q =

u
Let time of flight be T then T = E

Leth be the distance covered during last °t” second
of its ascent

Velocity at point B = vy =u-g(T - 1)

liles g

B:IH

1 .2 21 o 1 o
=h=vt—- —gt" =>h=gt"——gt" ==gt
Vg Zg g Zg 2%

C
N

(1)

On axial point, electric field is along the direction
of dipole moment.

43.

44,

45,
46.

47.

48.

49.

50.

51.

52.

53.

54.

MOCK TEST NEET -2020 (Answers & Solution)

me = 0A
0.A = oA,
AL _0y _ fk_z fﬁ
A, o 1 ®= M
2400
Energy of photon = 2100 ~ 3eV
a=rTa= const. = o = const.
®, = 0 6=2n
_y__8 _
" r (20/m)
o
o=— 1% =27 rad/sec’
20
a,=—x2nr=40m/s"
T
€)
)
Fact

AH = Z(AB-EH)React - Z(AB-E-H)Pmduct
@

All the given causes water pollution.

Z Vi 272 3
Veo— B a2
n \'A 5/3 5

2

There are two TV and one OV present per atom in
cecp

4)

LiF sparingly solute in water due to high lattice en-
thalpy

=— =0

AS = —;

=

CH,-C=CH+ Na ——>CH, =C°Na® + 4 H,
(}4mole)

23gm
(1mele)

“)



Mock Test-02

MOCK TEST NEET -2020 (Answers & Solution)

For limiting line of Lyman seriesn, =1 andn, =
1 1 1

—=R,.Z* [—Z—TJ

Iy n; n;

For second line of Balmer series, n, = 2 and
n, =4

1t 1 ,.C
N 4 16 s

For minimum frequency of Paschen seriesn, =3,n, =0

55.
5 _[AL[BL ‘W@:z
no [al[B],  [A]'[B]
r,=2xr,

56. (1)
Fact

57. (2)

Concentrated HNO, produces NO, and dilute HNO,
produces and N,O with zinc

58.
CH,
|
CHCH
@ AIC 0J/A
+ CH~CH,-CH,~Cl—=> —
M
CH,
|
CH,C-O-OH OH &
. I
e @ +CH,~C-CH,
N
59.
_lef o]
[A][B] [2/10][3/10] 2x9
= Q < K_ Forward direction.
60. (3)
K = 105 , 10—2000/T
61. (3)

When pairing energy is more than CFSE pairing will
not take place

62.

63.

64.

65.

66.

67.

68.

69.

70.

71.
72.

73.

74.

75.

0] 1CN
5 H 4 3
CH,~C-CH,~C-CH,

\
CIH,

EWG(-NO,) at ortho or para-position in given complex
stabilised it more in comparison to meta position.

2
iy o.1(1(1)0j
- o _ :10—5

©1-001

a

©)

Refer theory Roult's law

(1)

Fact

T l-a

€l ¢l €l

| | |
CH—CH-Cl  CH—CH,

N S

Position isomers

Chlorobenzene does not reacts with aq NaOH at
room temperature.

8H* + 350, + Cr,0;~ - 2Cr** + 350, + 4H,0
4)

When alkali metal dissolved in liquid ammonia blue
coloured solution forms which is good conductor of
electricity due to presence of electrons

)

I effect order —>_—NO2 >—-CN>-F> —NI_{T

CH,-OH CH,~Cl
A
L 1ICl —>¢
OH OH

Critical temperature « polar nature and molecular
weight.

©)
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76.

77.

78.

79.

80.

81.

82.

83.

Dipole moment depend on both that is magnitude of
charge and distance between dipoles chloromethane
show more dipole moment than fluoromethane

@

True alum is potassium sulphate aluminium sulphate
24 molecules of water of crystallisation

Stability of carbanion «« EWG «

ERG
(@] OH
I 6 crmegse | HS0,
CH,—C-H = = CHCH-CH,——CH-CH=CH
(ii) H.O A A 3 2
lHBO
(I)H
CH,—CH,—CH,
(@]

A & C are position isomer.

Empirical formula = C%Hg %
= CHy350.4 EF = C;H.O.
60
n=—-=1 MF=C3H80'
60

©)

Smelting is the reduction of metal oxide with the help
of coke or carbon monoxide

(4)

The four P=0O bonds have short PO bond length

Enzymes are proteins in nature.

©)

COOK COoO

~(BL)
COOK COO

l_ZCOZ
—2e”
[ J

—>

84.

85.

86.

87.

88.

89.

90.
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o o

Ecell = EC0+2|C0 - E0T‘13+|Tiz+ 009 = 028 —_— Eo B

Ti*|Ti

= ETi2+|Ti3+ = 037 V ETi3+|Ti2+ - - 037 V
ETi2+|TiS+ = 037 V

1)
The fourth option will show optical and geometrical
both isomerism

(1)

ICI,~ is square planar and involve d.,d. . orbital

y

Nylon 6,6 is not homopolymer but a copolymer
of adipic acid and hexamethylenediamine.

I
LiAlH,
CH,~CH-C-NH,——%CH,-CH-CH,-NH,
N a*xN,
V4
1.287%(12.3x107 ) x6.02x10% . 4
= n = 3.6 x 10° g mol

4)

Transition element show variable oxidation state

©)



